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HET-31/Part -A

3ch : 20/Marks : 20

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries 2 marks.

Fre: gl ue @ W )| ueE w1 IW 15-15 TR W S| USE Y H 2 I Huifa 2

1. e & T W gEen W U9 fhad 5 € e Sk e % < ARl 1 AN SUH Sk W% & & 3Aeh(
% I 9§ e T 27

24593587652150503503

Find the number of 5's in the following number chain such that sum of two digits before it is not greater than
the sum of two digits that follows it.
24593587652150503503

2. Th U Th JUHR Uk Th F4e § T Y Tohdl & W 98 HAMER 1 =eh oSt 1 f&on & qen
% R =% w #1 fauia G A womn 21 9% g9 9 i e 9 w0t WS Hm

A particle can complete a circular round in one minute, but it moves half round clockwise and one-third
round anticlockwise successively. Find the time in which the particle will complete one round.

O




zThe Vision

3. 1 9 3ifys 98 SR | Bl Uil 910 SIS St Th W fF=l wfaqa quiei &1 ot 9 =1 @l

Find the smallest integer greater than I which is simultaneously a square and a cube of certain integers.

4. Th GHHT S ABC ® 101 B wHehvl @1 fag wifsd 6 (AB) + (BC)' < (AC)Y
In a right angle triangle ABC, right angled at B, prove that (AB)* + (BC)’ < (AC)?

5. 9UH n Wiehd @S 1 TEHOT 1 B2

What is the variance of first n natural numbers?
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6. A A, B d C 1 T8 Tz & o &1 off gl o1 sumgead 7€ €1 99 oM@ 1 ST X (A- C)
M (C —B) ¥ &ifs@

If A, B And C are three sets such that none is a subset of other. Use the Venn Diagram to find (A— C) n (C
~B)

7. af% ush fafy=a s a1 § “SHANTI” *1 A981A4B09 for@n Sl &, “FORUM " =1 6A5A8B1A3 feran
ST € A S e W ¥ “BUILD” w1 s feran SEm?

If "SHANTTI", is coded as A981A4B09, "FORUM", is coded as 6ASA8B1A3 in a certain code language,
then how will "BUILD" be coded in the same language?

8. @ o o= # wiferd WM &1 &% @ FifsEI
Find the area of the shaded portion in the following figure.
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9.

fordt wlen o STl M & folu stfuhan ek &1 36% w1 STEvaehdl ©| U foenef =i 94 i W< &
g 3 SH 14 3wl 9 Il Hiftd T & S €1 Aferehan Sishi w1 TOET Hife |

In An examination it is required to get 36% of maximum marks to pass. A student got 94 marks and was
declared fail by 14 marks. Calculate the maximum marks.

10.

T SRR STRT G 60 YHUS UTAR Th W oSl B GHIT SUH YAk 62 ThUe TIEN
T aear €1 TEel 9 o IEl SUHE 10 am. W WA H W oo €, @ ag wiem T 96 Fife
9 o Tk W el aem|

An electronic device makes a beep after every 60 seconds. Another device makes a beep after every 62

seconds. They beep together at 10 a.m. for the first time, then find the time when they beep together at the
earliest.
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-
Part-B

3Tk : 25
Marks : 25
Fe: |weft g ® I T I g 1 IW 50-50 Rl H 2| UAF G & 5 oAw i 2

Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries 5 marks.

11. J,K, L, M, N 3R O T&% 9eR & #<@ ¢ 94t oeeli & o fa= 21 af:
(i) IReR # < foanfea gt 2
(i) 'M' T% Tafrcaes © 3 SHH! el T SR 2l
(i) 7', 'O w9 ® L H a2
(iv) 'K','L' % T & 9 TIh! VST Tk AeAIH 9 g R
(v) 'L' Tk F% & I IqH A N T
T M H Tl BE 22
J, K, L, M, N and O are the members of a family. Professions of all members are different. If
(1) Family has two married couples.
(il)) 'M'is a doctor and his wife is an engineer
(iii) 'J'is grand daughter of 'O’ and sister of 'L'.
(iv) 'K'is grand father of L' and is married to a teacher.
(v) 'L'is a clerk and his mother is 'N'.
Then, who is the wife of 'M'?
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i i sin
12. 4f< tan® xsin® tan ¢ = ysin® , @ fag wifse .—=§
1-xcos¢ 1-ycos6 sing y
. . . 6
If tan @ ——00 sin© tan :—ysme , then prove S?n =2
I-xcos¢ 1-ycos6 sing y

13. N o9 3l &1 7 & o %1 *IE G& & df 38 5 % ff N eH H1 F wifashdr 82

N is a three digit number that is a multiple of 7, what is the probability that it will be a multiple of 5 also?
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14. 1000 § 31fYsh 7 31, 98 a9 a1 YUl §&A 1 et o9 5 9 fawiod e w 3wwa 3, 7 9 fawfsa
FH R AIRA 5 91 9 F fINRTT FE W ITFRA 7 Tl 22

What is the largest integer not exceeding 1000 which leave remainder 3 when divided by 5, remainder 5

when divided by 7, and remainder 7 when divided by 9?

15. S\ X 9 S Aemet A @R B H ue fEw e S wH: 5% AR 10% Fiaas =kl s W shidt
off| afz < auf & a1 I Arestl g g Al SAS w1 AR T 2075 ot qon HA AW fomE T em
15,000 ol asn o e &1 T Ui 9@ st

Mr. X invested money in two schemes A and B offering compound interest 5% and 10% per annum respectively.
If the total amount of interest accrued through both schemes together in two years was X 2075 and the total
amount invested was X 15,000. Find the amount invested in scheme A.
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HT-9

Part -C

3Tk : 20/Marks : 20
Fre: |t geA ® IR | T TR T S 100-100 R H 2| YAF G H 10 3w i 2

Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries 10 marks.

16. T A A 3R B TH T I HE: 5 W q 20 W H @A W Whd 2| AR IA T Wi oA s A
9§ U B % BRI W A H 30 e R wifusk @ #1 ARk <R g ol g€ w1 @ S 8k
H 9 91 UM & e W 2E! &l @t 81§ foham wHa (H H) e
Two tapes A and B can fill A tank in 5 hrs and 20 hrs respectively alone. If both taps are opened then it takes

30 minutes more to fill the tank completely due to a hole in the tank. If tank is completely filled then how
much time (in hrs) will it take to get tank empty due to drain water from hole?
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17. T 9@ § Has &l § | 10% Fagmaist 3 S0 "a T o a9 60 "asarst 3 "qa 99 Raq e
Tel W Fad I SEHIGAR &) fasidr 1 Hagmar = § T 47% st 1 gaef foen don 9 o1 ufage
¥ 308 Ha St W g Waad ge H HAAR@isl i Ge J6 Hifs|
In an election 10% of the voters on the voter's list did not cast their votes and 60 voters cast their ballot

papers blank. There were only two candidates. The winner was supported by 47% of all voters in the listAnd
got 308 votes more than his riva voters on the voter list.
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(Ffte-11 )/(Unit-1)

(70 3TeR )/(70 Marks)

HAT-31/Part-A

3Teh: 10/Marks : 10

He: |t g ® I T I U 1 IW 15-15 Rl H 2| UAF G & 2w i 2

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries 2 marks.

|. T BTkl o Th 9RI 9% 1 Ga 9uF B1 T 9 fhaent nfas ot sifues gnii?

A light and a heavy body have same momentum. Which one will have greater kinetic energy?

2. MTRTE q=red 1 e A F SAHR W TR whR R #a 22 W) w1 w6t frem
T e HIT B2

How does the density of nuclear matter depends on size of nucleus? Does the density of atom also follows
the same rule?
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3. So-oEH gOE | 39 F G €7
What do you understand by "Joule-Thomson effect"?

4. '3 @R’ & FHH 9 A THh A6H I AW faAr@u|

Write the name of causal organism and vector of 'Dengue fever'.

5. ©9 YSaAl RN 27 B9 U H1 Tk IR0 AU

What are umbrella species? Give an example of umbrella species.
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Part-B
HAET-d

3Teh: 20/Marks : 20

He: |weft ge @ I 2| I U 1 IW 50-50 WAl H 2| UAFk YA & 5 ofw Fuifd 2

Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries 5 marks.

6. TEE A & SR & fHadl =i fafeu)

Write Kepler's law of planetary motion.

7. T 9 & T A FESOA ST B W 4.0 < 10° M 21 FHHE pH N 22 (log, 2 = 0.301)
The concentration of Hydrogen ion in a sample of soft drink is 4-0 x 10° M. What is its pH? (log, 2 = 0.301)
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8. aTafireRd: A sgfe W feuqoft fafem)

Write a note on genetically engineered insulin.

9. Tk TIRfeerfaer dF & fafv=r ot = &1 YEias ST o g 9o @R & 3fad 3] T

Enlist various trophic levels in an ecosystem and give suitable example of each trophic level.

o
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Part-C
-
3T : 40/Marks : 40
die: meft geAl @ SR <) e 9w T SR 100-100 9 H <) g 99 % 10 3 fwifa )

Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries 10 marks.

10. HeR @ @ 319 921 THe B2 GuR TR &1 sl o 3 gU 39 TaFdl i GHEEy)
What do you understand with communication system? Give block diagram of communication system and
explain its elements.
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11. 39 % o€ fag & ¥R W =leih, g o et o 98 Hifsd|

Distinguish between conductor, semi-conductor and insulator on the basis of band theory of solid.
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12. el o R o B 22 39 YR % Tl < faewl % #Rer 9 wew fafe)

What are chromosomal disorders in human beings? Write causes and symptoms of any two such disorders.
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13. TSI &R & WUEH 99 5/ 90 S ® T8 YR SE%H i foe=m i)

Discuss the Breed Improvement Programme undertaken by the Department of animal Husbandry, Government
of Rajasthan.
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(Ff=-11 )/(Unit-I11)

( 65 3Teh )/(65 Marks)

HAT-3/Part-A

3Teh: 10/Marks : 10

He: |weft ge ® I T I U 1 I 15-15 Rl H 2| UAF G & 2w i 2

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries 2 marks.

1. 3ol o o 82

What are the meteoric lakes?

2. s o ©?

What is Epicentre?
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3. URd & &I 9 &5 Yiderea ol 9 i 22

Which are the areas of India, receive winter rain?

4. TSRYM & & Adifas @il & 9 faftad

Write the names of major non-metallic minerals of Rajasthan.

5. T 2011 1 VAT % STHR TS W YEY U S WERdl 1 X M €2

What are the male and female literacy rates in Rajasthan as per Census-2011?
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HT-d/Part-B

3Teh: 25/Marks : 25
qe: |t g ® S T| T Y 1 S 50-50 Rl W T| Uk G & 5 b (i 2l

Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries 5 marks.

6. 3T STHRERT &1 WeM el &1 staferfd, M Td e &l Hau § = it

Explain in brief the location, names and importance of the great lakes of North America.

7. 9Nd ! '‘Bshw' JHR i @y &l T hifd|
Describe the 'Bshw' type of climate of India.
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8. YRAT AT W T-FM1 % YAE i T Hifd|

Discuss the impact of La-Nina on Indian Monsoon.

9. TS H THRAT el & YohR Ud ool =1 H&9 H 9ueed|

Discuss in brief the types and distribution of building stones in Rajasthan.
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10. TSN § foree Siga & fadon 6 i swm & IR § fafed)

Write about the distribution and industrial uses of lignite coal in Rajasthan.

HT-9/Part-C

3Teh: 30/Marks : 30
qe: |t g ® SO 2| T UeE o S 100-100 I § T UHF U+ 10 FAF i 2

Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries 10 marks.

11. s w9g Aol & faareml ol T HivEl

Explain the divisions of Geological Time Scale.

6D
®




§
8
3
S




zThe Vision

12. 9Rd & a9 e & 3u-faum § fawfoa iR den s9et fagioasti 1 avfa S|

Divide coastal plains of India into sub-divisions and explain their characteristics.
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13. ToqE H it SASG o SA1ar, 1efeueen Ud WU o1 9ui hifsd|

Describe the habitat, economy and society of Bhil tribe in Rajasthan.
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